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1. MU 7)€ D2

# 71 #E K (gravity equation) Z i\ C, HUIRE G ELE A IG5 2 R T L2 LA TE
5, T, ALKABBESHE (NAFTA) ickoT, MEE (T AV A, #Fx AFxva) O
HONREDX B L7z 0%~ %, 7 —£I%, agGravityDatasmall.dta % i\ %,

use "agGravityDatasmall.dta", clear

CTOTF—RITIE, 1976 5 2004 FE T 2EHBOE S T — 2 BRI N T 3,

2. IR E oA
TTMBEETH AT X, AFva, TAYVAEFENT 2 X1 —BBEFRT 2,

* NAFTA g AFE & I —
gen nafta = (ccode=="CAN" | ccode=="MEX" | ccode=="USA")
label var nafta "1 if home is nafta member"

*NAFTA fHiE £ 1 —
gen pnafta = (pcode=="CAN" | pcode=="MEX" | pcode=="USA")

label var pnafta "1 if partner is nafta member"

3. ImREHE S
NAFTA fi#iEOE % % (1) NAFTAWNOES, (2) NAFTA MBE MY E UM OE D & A5
285, (3) NAFTA MMEEMBEUNOE A~ T2 5O =20ZNZNIF#AIT 2 X I —
TR AR %,

*1994 £ NAFTA #5hLAKED NAFTAIMHEENE S % 1 & 35 % I -

gen intra_nafta = (ccode=="CAN" | ccode=="MEX" | ccode=="USA") & (pcode=="CAN"
| pcode=="MEX" | pcode=="USA")

replace intra_nafta = 0 if year < 1994

label var intra_nafta "1 if trade bewteen nafta members"
* NAFTA MR E S MBEELIN O E 2 bEA T 256 % 1 L3564 I -2

gen imp_nafta_rest = (ccode=="CAN" | ccode=="MEX" | ccode=="USA") &
(pcode!="CAN" & pcode!="MEX" & pcode!="USA")



replace imp_nafta_rest = 0 if year < 1994

label var imp_nafta_rest "1 if nafta's imports from the rest of the world"
*NAFTA IRAEMREEUNOE~EL S 2 56% 1 L35 X I -2

gen exp_nafta_rest = (pcode=="CAN" | pcode=="MEX" | pcode=="USA") &
(ccode!="CAN" & ccode!="MEX" & ccode!="USA")

replace exp_nafta_rest = 0 if year < 1994

label var exp_nafta_rest "1 if nafta's exports to the rest of the world"

4. 7 — X DU
BHNOEADHEE LA T, Eé=a— FoElLziToTH L,
encode pcode,gen(pcoden)

encode ccode,gen(ccoden)

2. AN DFEIF2EKT 5, 22Tl EOXTBEASFNLOFAITTH B,

egen id = group(ccode pcode)

tsset id year

X 5T, BREONEILETIT S

gen InV = log(imp_tv)

label var InV "value of imported goods in logarithm"
gen IncGDP = log(cgdp_current)

label var IncGDP "partner's current GDP in logarithm"
gen InpGDP = log(pgdp_current)

label var InpGDP "home's current GDP in logarithm"
gen InD = log(km)

label var InD "bilateral distance in logarithm"

5. ffesk
HEE IR 2 2 E 0”57 — X1k, 1976 425 2004 FETOAINTF =2 TH 2, Z DI,
H B E D~ T OWEEHRE L L 2B ENRE T OHEE ZAT S

xtreg InV IncGDP InpGDP intra_nafta imp_nafta_rest exp_nafta_rest i.year, fe vce(robust)



ZIC, RAKIE 2 EROE S (InV) Thb, E@ILEICIE, WMAED GDP O xf#ifd
(IncGDP) . #iHE® GDP Oftsfi (InpGDP) % &> T \s 5, NAFTA MR % il 3 7-

», NAFTANE S £ I — (intra_nafta) . NAFTA i E oA £

(imp_nafta_rest) . NAFTA ¥ E g i+ &4 I — (exp_nafta_rest) %ﬂﬂx_flﬂ . BHHE®
7 OREENREER L -EENRET VD0, BEHEFOEHCF B0 @M & v o 222850

A THBEENRICTINE NS 720, Mz Tz,

Fixed-effects (within) regression Number of obs = 211,406
Group variable: id Number of groups = 15,728
R-sq: Obs per group:
within = 0.1872 min = 1
between = 0.5011 avg = 13.4
overall = 0.4549 max = 29
F(33,15727) = 306.78
corr(u_i, Xb) = 0.2225 Prob > F = 0.0000

(Std. Err. adjusted for 15,728 clusters in id)

Robust

1nV Coef. Std. Err. t P>|t| [95% Conf. Intervall
1ncGDP .8587733 .0307071 27.97 0.000 .7985838 .9189627
1npGDP .55351 .0282126 19.62 0.000 .49821 .6088101
intra_nafta .5023271 .2440053 2.06 0.040 .0240488 .9806055
imp_nafta_rest .2395259 .0674902 3.55 0.000 .1072373 .3718145
exp_nafta_rest -.02912 .0508948 -0.57 0.567 -.1288796 .0706395

year
1977 .0510893 .0424041 1.20 0.228 -.0320275 .1342062
1978 -.0740576 .0458673 -1.61 0.106 -.1639628 .0158476
1979 -.092856 .0490368 -1.89 0.058 -.1889738 .0032619

9t NS

(HETE 5 B oK)

NAFTABWNEZS X I —DBIEICHEETH 52 b, NAFTAIC X - T, HNOEG ML 72 &
Fxond, Zhid TEGAHR] 1S53 %,

—J7C. NAFTA MBAEOIMmA X I —bIEICHETH 5 2 LA 5H, NAFTA OS5 o DA
bMA TR ZLdbhr s, THIC, NAFTA IHEOEIGEH & I — I 3HEHICHEE TR,
I DFERH B 1X, NAFTA 0 ¥%h2s NAFTA IEE & 85L& 0B 5 % HE T 2 [ E 5
Rl FhroktEzbhd,



